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The table below shows the temperature, pressure, and volume of five samples.

Sample | Substance | Temperature | Pressure | Volume
(K) (atm) L)
A He 273 i 22.4
B Os 273 1 7 22.4
c Ne 273 2 22.4
D Np 546 2 44.8
E Ar 546 2 44.8

Which sample contains the same number of molecules as sample 4?

A) B B) C

Equal volumes of SO(g), NO(g), and CO,(g) at STP contain 22)

the same number of

A) molecules C) protons

B) atoms D) neutrons

At STP, which gas will diffuse more rapidly than Ne?

A) Xe C) He

B) Ar D) Kr

At STP, which of the following gases will diffuse most

rapidly?

A) CO C) H

B) Xe D) CO,

Under the same conditions of temperature and pressure,

which gas will diffuse at the slowest rate?

A) He C) Rn

B) Ne D) Ar

The pressure on 200. milliliters of a gas is decreased at 23)

constant temperature from 900. torr to 800. torr. The new

volume of the gas, in milliliters, is equal to

900. 800.
A) 800.x o 0 200.x 5o
200. 900.

B) 800.x 5 D) 200.x o
24)
25)
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O

D D) E

The diagramrepresents a gas confined in a cylinder fitted
with a movable piston.

Movable
piston

Cylinder

As the piston moves toward point 4 at constant
temperature, which relationship involving pressure (P) and
volume (V) is correct?
A) PIlV=k

B) P-V=k

C) P+V=k

D) PxV=k

The volume ofa given mass of an ideal gas at constant
pressure is

A) inversely proportional to the Celsius temperature
B) inversely proportional to the Kelvin temperature
C) directly proportional to the Kelvin temperature

D) directly proportional to the Celsius temperature

A gas occupies a volume of 30 milliliters at 273 K. If the
temperature is increased to 364 K while the pressure remains
constant, what will be the volume ofthe gas?

A) 20ml C) 60ml

B) 30ml D) 40ml

A gas sample is at 10.0°C. If pressure remains constant, the
volume will increase when the temperature is changed to

A) 283K C) 293K

B) 273K D) 263K

What is the total pressure exerted by a mixture containing
two gases if the partial pressure of one gas is 70 torr and the
partial pressure of the other gas is 30 torr?

A) 70torr C) 100 torr

B) 40torr D) 30torr




